[ Efficiency vs vertpos |

~ 0.7

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02
0.0

T IIIIIIIIIIIIII!.I-I-I-I-!.I-I-I‘.'—I—I—I—I.!—I—LII!IIII!IIII!‘IIII

1.0

Ratio

||}-|||

0.950

1072 107 1

10 0
TP vertr (cr%)

2

—=— DQM_mKFit_TT_base

Efficiend _,__ oM mkFit_TT_retrain

—e— DQM_mKFit_TT_retrain_noCandDNN

~ 0.5

R S T
w0 . . . . .
L S SRS SRR I
> : : : : :
2 : : : : :
s S S R
O SRS SR LU I
R S B
R AR T S
ORTE RN S R

ettici

Vs

..........

.........

R B v
0.05F-++++++een "§-+-+-++-++*‘E*‘-‘,-¢++§--g--

Ratio

0.95!

30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.5

> T TUUOUS UUTTTL Ut OO
0 0.45F---rrprriveeen A AR
£ i R
A T A
£0.35F 5

0.3

.......

0.952

=
T
i
+

0 IS 4

20 =15 =10 -5 0 5 10

15 20

Sim. PV z (cm)




	Contents
	Page 1


